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The answer should be –334.72 J, this is divided by 0.0500mol AgCl.  ∆H = –66944 J/mol.  To the correct SF, ∆H = -67kJ/mol 
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The problem was misleading.  Water in the liquid phase does not exisst at 1 atm, and 135°C. 
 It is now steam.  q(steam) provides the energy to warm the 95 degree water, and possibly allow
a phase change, but not all of the water can go to steam.

q steam = -q water
50.0 g x 1.841J/g°Cx–35°C = –3224J. this is the amount of energy the 95°C water
absorbs.  3222J = 4.184J/g°Cx70.0 g x 5°C + energy for phase change
3222J–1464J = 1758 J remaining.  ONlY much energy is absorbed for the phase change
which equates to 0.779g water.
it is the only mass of the 95°C water that can possibly have a T higher than 100°C if there is
enough energy to change the temperature.
alas, there is not.
50.0 g x 1.841J/g°C x (Tf-100) = –0.779g x 1.841J/g°C(Tf-100), Tf = 100.  there is not enough
energy to raise the temperature dramatically past 100°C for the steam.  all 50.779 g of steam is 
at 100°C
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